Exemplo de Utilizagao de Arranjos

package arranijo;

3[F import java.util.hrrays:
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public clas=s Main {
public static volid main(String[] args) {
int wetorl|[] = {5, &, 1, 12, T}.
wvetor2|[]:

wvetor?2 = Arrays.copyOf (vetorl,wvetorl.length) !

if (Arraye.eguals(vetorl, wvetorz2)){

Sy=stem.ocut.println ("Vetores iguuais!\n");
H
elseq

System. cut.println ("Vetores diferentez!\n");
H

Imprime wvetorz.
for{int i = 0; i< 5; i+4+)
System.out.printf("3®d ",vetorZ[i])-

Arrays.sort(wvetorl):;

Sy=stem. cut.print ("\n\n")
Imprime wvetorl.

for(int 1 = 0; i< 5; i++4)
System.cut.printf("%d ",wvetorl[i])

System. cut.print ("\n\n")
if (Arravs.eguals(vetorl, wvetorl2))i

System. cut.println ("Vetores iguuais!i\n"):
H
el=eq

Sy=tem.ocut.println ("Vetore=s diferentes!\n"}):;
H

: Qutput - Arranjo (run)
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BUILD S5UCCESSFUL (total time: 0 seconds)
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